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E–104 

M. Com. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

Paper Fourth 

STATISTICAL ANALYSIS 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 
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lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ,d ‘kks/kdŸkkZ us xk¡o esa Ñf”k dk;Z dk ewY;kadu fd;kA ;g ewY;kadu 

vk/kkfjr gS % 

¼v½ izkFkfed lead ij  

¼c½ f}rh;d leadij 

¼l½ ¼v½ ,oa ¼c½ nksuksa ij 

¼n½ buesa dksbZ ugha 

A research scholar evaluates agricultural work in a village. 

This evaluation is based on : 

(a) Primary data 

(b) Secondary data 

(c) Both (a) and (b) 

(d) None of these 

2- ^lkaf[;dh* ‘kCn dk loZizFke iz;ksx fd;k x;k % 

¼v½ 1741 esa 

¼c½ 1759 eas 

¼l½ 1749 eas 

¼n½ buesa ls dksbZ ugha 

The term „statistics‟ was used firstly in : 

(a) 1741 

(b) 1759 

(c) 1749 

(d) None of these 
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3- ßlkaf[;dh ,d foKku ugha] og ,d oSKkfud fof/k gSAÞ ;g dFku 

fdldk gS \ 

¼v½ okfyl ,oa jkWcVZ~l 

¼c½ ØkWDlVu ,oa dkmMsu  

¼l½ ;wy ,oa ds.Mky 

¼n½ tkWulu ,oa tkWulu 

“Statistics is a not science, he is a scientific method.” Whose 

statement this is ? 

(a) Wallis and Roberts 

(b) Croxton and Cowden 

(c) Yule and Kendall 

(d) Johnson and Johson 

4- lkaf[;dh; lkexzh fdrus Hkkxksa esa foHkDr dh tk ldrh gS \ 

¼v½ nks 

¼c½ ,d 

¼l½ rhu 

¼n½ buesa ls dksbZ ugha 

Statistical material can be decided into : 

(a) Two 

(b) One 

(c) Three 

(d) None of these 
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5- fuEufyf[kr esa ls dkSu&lk rF; la[;kRed ugha gS \ 

¼v½ vk;q 

¼c½ Å¡pkbZ 

¼l½ mRiknu 

¼n½ vfookfgr 

Which of the following fact is not quantitative ? 

(a) Age 

(b) Height 

(c) Production 

(d) Unmarried 

6- fo’ys”k.k fof/k dk iz;ksx gksrk gS % 

¼v½ lekUrj ek/; esa 

¼c½ ekf/;dk esa 

¼l½ cgqyd eas 

¼n½ gjkŸed ek/; esa 

Analysis method is used in : 

(a) Arithmetic mean 

(b) Median 

(c) Mode 

(d) Harmonic mean 
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7- ;fn variance 625 gS] rks S. D. gksxk % 

¼v½ 25 

¼c½ 30 

¼l½ 15 

¼n½ buesa ls dksbZ ugha 

If variance is 625, S. D. will be : 

(a) 25 

(b) 30 

(c) 15 

(d) None of these 

8- izFke vifdj.k eki dgrs gSa % 

¼v½ lekUrj ek/; 

¼c½ ek/; fopyu 

¼l½ izeki fopyu 

¼n½ prqFkZd fopyu 

First measurement of dispersion is : 

(a) Mean 

(b) M. D. 

(c) S. D. 

(d) Q. D. 
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9- dkyZ fi;lZu dk fo”kerk xq.kkad fuEufyf[kr esa ls fdldks ugha ekurk 

gS \ 

¼v½ ek/; 

¼c½ Hkwf;”Bd 

¼l½ ekf/;dk 

¼n½ ek/; fopyu 

Which of the following is not considered in Karl Pearson‟s 

coefficient of skewness ? 

(a) Mean 

(b) Mode 

(c) Median 

(d) Mean deviation 

10- 9 O;fDr;ksa esa ls ,d lfefr ds fy, 5 O;fDr;ksa dk p;u fdrus 

izdkj ls fd;k tk ldrk gS \ 

¼v½ 126 

¼c½ 12 

¼l½ 16 

¼n½ 162 
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In how many ways a committee of a 5 members can be made 

out of a persons ? 

(a) 126 

(b) 12 

(c) 16 

(d) 162 

11- ,d flDds dks 4 ckj Qsadus ij pkjksa ckj fpŸk vkus dh D;k izkf;drk 

gS \ 

¼v½ 
1

16
  

¼c½ 
2

16
 

¼l½ 
1

32
 

¼n½ 
4

12
 

What is the probability of getting all the heads in four throws 

of a coin ? 

(a) 
1

16
 

(b) 
2

16
 

(c) 
1

32
 

(d) 
4

12
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12- bl ckr dh D;k izkf;drk gS fd ,d xSj&yhi o”kZ esa 53 jfookj  

gksaxs \ 

¼v½ 
1

7
  

¼c½ 
2

7
 

¼l½ 
3

7
  

¼n½ 
4

7
  

What is the chance that a non-leap year should have 53 

Sundays ? 

(a) 
1

7
 

(b) 
2

7
 

(c) 
3

7
 

(d) 
3

7
 

13- f}rh; prqFkZd gksrk gS % 

¼v½ ek/; 

¼c½ f}rh; n’ked 

¼l½ prqFkZd foLrkj 

¼n½ ekf/;dk 
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Second quartile is equal to : 

(a) Mean 

(b) Second decile 

(c) Range of quartile 

(d) Median 

14- vifdj.k fdl Js.kh ds ek/; gksrs gSa \ 

¼v½ izFke 

¼c½ f}rh; 

¼l½ rr̀h; 

¼n½ buesa ls dksbZ ugha 

To which type of average is dispersion ? 

(a) First 

(b) Second 

(c) Third 

(d) None of these 

15- ;fn Js.kh esa U;wure ewY; 12 rFkk vf/kdre ewY; 28 gks] rks fo”kerk 

xq.kkad gksxk % 

¼v½ 1 

¼c½ 0-4 

¼l½ 0-6 

¼n½ buesa ls dksbZ ugha 
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If minimum price is 12 and maximum price is 28 in a series, 

then the  coefficient of skewness will be : 

(a) 1 

(b) 0.4 

(c) 0.6 

(d) None of these 

16- ;fn ekf/;dk = 20 vkSj ek/; = 16] rks cgqyd gksxk % 

¼v½ 25 

¼c½ 28 

¼l½ 23 

¼n½ 32 

If median = 20 and mean = 16 then mode is : 

(a) 25 

(b) 28 

(c) 23 

(d) 32 

17- ykWjsUt oØ d.kZ js[kk ds ftrus lehi gksrk gS mruk gh gksrk gS % 

¼v½ le 

¼c½ fo”ke 

¼l½ nksuksa ¼v½ ,oa ¼c½ 

¼n½ buesa ls dksbZ ugha 
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As Lorentz curve is close to diagonal line it become : 

(a) Even 

(b) Odd 

(c) Both (a) and (b) 

(d) None of these 

18- ekud fopyu cjkcj gksrk gS % 

¼v½ 
5

4
 M. D. 

¼c½ 
4

5
 M. D. 

¼l½ 
4

6
 M. D. 

¼n½ 
2

3
 M. D. 

S. D. is equal to : 

(a) 
5

4
 M. D. 

(b) 
4

5
 M. D. 

(c) 
4

6
 M. D. 

(d) 
2

3
 M. D. 
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19- ,d ik¡ls dks 2 ckj Qsadus ij nks ^pkj* vkus dh D;k izkf;drk gS \ 

¼v½ 
1

36
  

¼c½ 
2

36
 

¼l½ 
4

36
 

¼n½ 
8

36
 

What is the probability of throwing two four‟s in two throws 

of a dice ? 

(a) 
1

36
 

(b) 
2

36
 

(c) 
4

36
 

(d) 
8

36
 

20- vadksa dks j[kk tkrk gS vkjksgh ;k vojksgh Øe esa fuEufyf[kr dh 

x.kuk ds fy, % 

¼v½ gjkRed ek/; 

¼c½ xq.kksŸkj ek/; 

¼l½ Hkkfjr ek/; 

¼n½ ekf/;dk 
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Digits are kept in ascending or descending order for 

calculating : 

(a) Harmonic mean 

(b) Geometric mean 

(c) Weighted mean 

(d) Median 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % bl [k.M ls fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa eas 

fyf[k,A  

 Write answer of any eight questions from this Section in 

two or three sentences.  

1- lkaf[;dh dh ,d vkn’kZ ifjHkk”kk nhft,A 

Give an ideal definition of statistics. 

2- leadksa ds ladyu dks le>kb,A 

Explain collection of data. 

3- lkj.kh;u ls vki D;k le>rs gS \ 

What do you mean by Tabulation ? 

4- lap;h vkof̀Ÿk dks mnkgj.k lfgr le>kb,A 

Explain cumulative frequency with example. 

5- py ek/; ls D;k vk’k; gS \ 

What is meant by moving average ? 
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6- fopj.k xq.kkad D;k gS \ bldk lw= crkb,A 

What is meant by coefficient of variation ? Explain its 

formula. 

7- lkewfgd izeki fopyu fdls dgrs gSa \ 

Explain combined standard deviation. 

8- foLrkj ls vki D;k le>rs gSa \ Li”V dhft,A 

Explain the meaning of range. 

9- fo”kerk ds nwljs eki dks le>kb,A 

Express second measure of skewness. 

10- cst izes; D;k gS \ 

What is Bayes‟ theorem ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A xf.krh; izÑfr ds iz’uksa dks 

NksM+dj vU; iz’uksa dk mŸkj yxHkx 75 ‘kCnksa esa nhft,A  

 Attempt any eight questions. Each question except 

numerical nature is be answered in about 75 words. 

1- lkaf[;dh ds fdUgha ik¡p izeq[k dk;ks± dks crkb,A 

Mention any five important functions of statistics. 
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2- vkof̀Ÿk caVu rkfydk ls D;k vk’k; gS \ 

What is meant by frequency distribution table ? 

3- oxhZdj.k ,ao lkj.kh;u esa vUrj dhft,A 

Distinguish between classification and tabulation. 

4- ekf/;dk D;k gS \ blds xq.k&nks”k crkb,A 

What is median ? State its merits and demerits. 

5- vifdj.k ekius dh izeq[k jhfr;k¡ crkb,A 

Discuss the main methods of measuring dispersion. 

6- 100 pqus x;s Nk=ksa ds ,d oxZ dk vkSlr 168-8 lseh- gSA Å¡pkbZ ds 

ckjs esa fopj.k xq.kkad 3-2 gSA mudh Å¡pkbZ dk izeki fopyu D;k  

gS \ 

A group of 100 selected students is having average 

168.8 cm in height with a coefficient of variation of 

3.2. What is the standard deviation of their height ? 

7- ;fn cgqyd ek/; ls dsoy 45 bdkbZ vf/kd gS rFkk izlj.k 121 gS] 

rks fo”kerk xq.kkad fudkfy,A 

If mode is 45 units more than mean and variance is 121, then 

find coefficient of skewness. 

8- fuEufyf[kr leadksa ls dkyZ fi;lZu lglEcU/k xq.kkad Kkr dhft, % 

N = 50, X = 75, Y = 80, 
2 30x , 2y , 2 140y ,  

xy  = 120 
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Calculate Karl Pearson‟s coefficient of correlation from the 

following values : 

N = 50, X = 75, Y = 80, 
2 30x , 2y , 2 140y ,  

xy  = 120 

9- fLi;jeSu dh dksfV lglEcU/k jhfr ds xq.k rFkk nks”k crkb,A 

State the merits and demerits of Spearman‟s rank correlation 

method. 

10- izkf;drk fl)kUr ds egRo dks Li”V dhft,A 

Explain the importance of probability theory. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % bl [k.M ds lHkh iz’u vfuok;Z gSA xf.krh; izÑfr ds iz’uksa dks 

NksM+dj vU; iz’uksa dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A  

 All questions of this Section are compulsory. Each 

question except numerical nature is be answered in about 

150 words. 

1- lkaf[;dh esa vfo’okl ds D;k dkj.k gaS \ vfo’okl mRiUu djus okyh 

v’kqf);ksa ds lzksrksa dks crkb,A vfo’okl nwj djus ds mik; crkb,A 

What are the causes of distrust in statistics ? Point out the 

sources of errors causing destruct. Suggest remedies for 

removing distrust. 
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vFkok 

(Or) 

izkFkfed ,oa f}rh;d leadksa ls vkidk D;k vfHkizk; gS \ izkFkfed 

leadksa dks laxzg.k djus dh fofHkUu jhfr;ksa dks Li”V dhft,A 

What do you mean by primary and secondary data ? Explain 

the various methods of collecting primary data. 

2- vifdj.k ls D;k vfHkizk; gS \ vifdj.k ds v/;;u dh D;k 

vko’;drk gS \ 

What do you understand by dispersion ? What is the need of 

studying dispersion ? 

vFkok  

(Or) 

fuEufyf[kr lkj.kh ls izeki fopyu dh x.kuk dhft, % 

vad ls vf/kd fo|kfFkZ;ksa dh la[;k 

0 

10 

20 

30 

40 

50 

60 

70 

100 

90 

75 

50 

25 

15 

5 

0 
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Calculate the standard deviation of the following series : 

Marks more than No. of Students 

0 

10 

20 

30 

40 

50 

60 

70 

100 

90 

75 

50 

25 

15 

5 

0 

3- fn;k gS % 

X  = 20        X dk fopj.k = 16 

Y = 150      Y dk fopj.k = 9 

n = 10    

X rFkk Y dk lglEcU/k xq.kkad = 0-70 

Kkr dhft, % 

(i) nksuksa izrhixeu xq.kkad  

(ii) nksukas izrhixeu lehdj.k 

(iii) Y dk vuqekfur ewY; tc X = 6 
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Given :  

X 20              Variance of X = 16 

Y = 150          Variance of Y = 9 

n = 10  

Coefficient of correlation between X and Y = 0.70 

Find out : 

(i) Both regression coefficients 

(ii) Both regression equations 

(iii) Estimated value of Y, when X = 6 

vFkok 

(Or) 

15 in&;qXeksa dh x vkSj y Jsf.k;ksa dh fuEufyf[kr lwpukvksa ds vk/kkj 

ij lglEcU/k xq.kkad dh x.kuk dhft, % 

x –Js.kh      : X  = 25       3.01x   

y -Js.kh     : Y  = 18        y  = 3.03 

x vkSj y leadekykvksa ds lglEcU/kh fopyuksa ds xq.kuQyksa dk  

;ksx = 122A 

On the basis of the following information of x and y series 

consisting of 15 pairs of observations calculate of  

correlation coefficient : 

x -series      : X  = 25       3.01x   

y -series     : Y  = 18        y  = 3.03 

Summation of products of corresponding deviation of  

x and y series = 122. 
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4- ,d FkSys esa 25 xsansa gSa] ftleas 1 ls 25 uEcj Mkys x;s gaS vkSj ftUgsa 

;knf̀PNd <ax ls [khapk tkuk gSA [khaph xbZ xsan 5 ;k 3 ds xq.kkad esa 

gksxh bldh D;k izkf;drk gS \ 

A bag contains 25 balls, numbered from 1 to 25, one is to be 

drawn at random. Find the probability that the number of the 

drawn ball will be a multiple of 5 or of 3. 

vFkok 

(Or) 

IokW;lka forj.k dh fo’ks”krkvksa dh foospuk dhft,A 

Discuss the characteristics of Poisson distribution. 
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